Gr 6 Math Chapter 6 Geomerty & Measurement Lesson 10 Test Review Day 1.notkagdi, 2019

Chapter 6 Day 1
Geometry & Measurement

Test Review May 9

1) a) Classify the shape as polygon or ngypolygon (Explain why?)
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b) Find the perimeter and the ?‘rea of the foIIowing%Qc\.u“s\e
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@ 1. Find the volume of each rectangular prism.
a) - b) ¢ i
6 cm . 2 cm ‘HH““H-

S
7em 3 cm 3cm
Sem  2em 15cm
- V=LxWxH 4cm
V=LxWxH e x 3 o 2 V=L x W x H
_ =7cm x 3 cm X 2cm
= 5cm x 2. cm x 6em 42 om? =15¢cm x4 cm x 3cm
- 3 = cm
= 60 cm = 180 cm?
2. Estimate, then calculate, the volume of a rectangular prism
with these dimensions. 2a) V=L x W x H 2c)V=LxWxH
Length (cm) | Width (cm) | Height (cm) =6cmx2cmx2cm - 18cmx9cmx 12cm
a) 6 2 = = 24 cm?® = 1944 cm?®
b) 9 4 7
o 18 9 12 obyv=LxWxH  2dVELXxWxH
d) 30 15 6 = 9cm x 4 cm x 7em =30cm x 15cm x 6¢cm
= 259 cm? = 2700 cm?®

It is used to transport sled dogs and supplies to a race.

A dog box that holds 3 dogs is 117 cm long, 97 cm wide,

and 61 cm tall. Each dog compartment is 38 cm long,

97 cm wide, and 46 cm tall.

a) What is the volume of each dog compartment?

b} What is the volume of the dog box that is not used
to hold dogs? How did you find out?

E 3. A dog box is built to fit in the back of a pick-up truck.

a) Compartment

V=LxWxH 3 = 508 668 cm®
=38cm X 97 cm X 46 cm X
= 169 556 cm®
692 289 cm?®- 508 668 cm?®
b) Total box volume
V=LxWxH =183 621 cm®
=117cm X 97 cm X 61 cm 118 621 Cm3isthe
= 692 289 cm?® volume of the box that

does not hold dogs
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4. During the buffalo hunt, the Métis used a Red River cart to carry
buffalo meat and fur. The cart was made of wood and was usually pulled

by oxen. The top of this cart has the shape of a rectangular prism V - ‘ 350 on'?
with m ume T The -

About how high is the Top of the cart? Which strategy did you use to find out?A - aw

V=LxWxH H = VolumeZarea of base
= Area of base xHeight  OR 4 355 000 o + 13 500 o= 100 om

1350 000 cm? =13 500 cm? x H

W
100 cm

The top of the cart is 100 cm high

5. A rectangular prism has - )
The prism has length 9 cm and width 5 cm. V - qO(Jn

at Is Its height?fHow do you know?
@ L= Qecnm

_ =\w
V=LxWxH \vJ‘-‘:')cm?} AMS{ =qc..‘*$‘“,
=9cmx5cmx__cm ’_2 x

90cm® = 45cm?x ___om the he'ght is 2 cm = ‘I$cm

H-‘ \I ;".Aba.S(

s QOCm‘b-} HSC»{"
s 2

6. Arectangular prism hasfvolume 192 cm?,
a) The prism w at Is the area of its base?
How do you know? V = \qlcm3

b) What other possible measurements of height and

base area could the rectangular prism have? H - \b (1))

What strategy did you use to find out? A 2
base s ¢
V=LxWxH OR  4rea of base= Volumeheight
= Area of base x Height 192 cm®+ 16 cm
192 cm®*=__ cm?x 16 cm =12 cm?
12

The area of the base is 12 cm?

b) For example: To have volume of 196 cn?
Height 2 cm, base area 96 cm?,

Height 3 cm with base area 64 cm?,

Height 4 cm with base area 48 cm?,

Height 6 cm with base area 32 cm?,

Height 8 cm with base area 24 cm?,
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7. Canada's Food Guide recommends that we eat
2 to 4 servings of dairy products every day.

a) This p}e;e of cheese is 1 serving of dairy products. V=L xW x H
_ What is its volume?
V=LxWxH =9.0 cm x 2.0cm x 0.5 cm
2.0 cm
=3.0cmx25emx2.0cm = 9emd
25¢m
= 15cm® S0en
0.5 cm
. )
b) Is the block of cheese at the right more /
or less than 1 serving? How do you know? . 20¢m

b) Since 9 cm?®is smaller than 15cm?, the block of
cheese is less than 1 serving.

8. Each block in a child’s set of building blocks is
15 cm long, 10 cm wide, and 5 cm high.
Suppose you put the blocks in a box
that is 50 cm long, 35 cm wide, and 30 cm high.
a) What is the volume of each block? Of the box?

b) Suppose you only consider the volume.

How many blocks would you expect to fit in the box?

. Block

¢} Suppose you arrange the blocks neatly in layers.

How many different ways can you layer the blocks? V=L xWxH

How many blocks fit in the box each way? =15cmx10cm x5 cm
d) Compare your answers to parts b and c. = 750cm®

Explain any differences.
e) Which is the best way to pack the blocks? Why?

Box
V=LxWxH
=50 cm x 35cm x 30 cm
= 52500 cm®
b) 52 500 cm® = 750cm’® = 70 You would expect 70 blocks to fix in the box
1 serviiy-
=750 =70
8. b]} ?Ife:iogl‘e wo possible arrangements when each layer has a
? e ht of 5 cm; one uses 54 blocks, the other

%gbbd:s\ There are two possible arrangements when each

layer has @ height of 10 cm; one uses 60 blocks,

the other 63 blocks. There are two possible arrangements

when each layer has a height of 15 em; one uses

60 blocks, the other 70 blocks.
d) There is only one arrangement where all 70 blocks fit.

There are spaces left in all other arrangements, so

70 blocks do not fit
&) The best way to pack the box is fo orient the blocks so that

e 10-cm lengths fit along the 50-cm edge, the 5-cm lengths
long the 3&:11 edge, and the 15-cm lengths fit along the
dge. This way the blocks completely fill the box.

I_gululr prism is the product of its
ause length times width g

gives
luy?r, and height times the
" gives the number of cubes in
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Page 240-241
#1, 3, #5, #06, #7, #8 (don't estimate just do )

“Test Outline

s sbr* ?0\5501\5 (th‘ﬁ‘ea ?\dv\“ga oD
Regilar Ond icceqular  /3es

o ConleX Of concave 7/ 3p*s

co“%"“""" Remember you Need to erYher
neasure side and angles OR Tmcg)

3) Find Perimeder oF‘ ;35\\‘9‘5 (Provida Aerr
.;D\'M'A.\Qs and Wn-1s .

l-{) Find Aren of rcc\-a'\a\t.. 2%

5) Complle Acea chart

Ex) Lem| \nJCm

| 2 ':1\4.3

L) Find the VYolume of Z Rechangular y
Peiem ‘et
\I: Lxw X H

-,
yp'
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50 em

T
w9 e

Az L X W
= (R em XO0cm, ) zsuw\ _

= 34Y0Oem*

o LXW = 2500cm"
\,&5“ v &= 29em*I00em Y ‘°°°"'

\ ﬁﬁocm .\ Z50cm X ’Ocm w/c ;s:‘“
o 50(."\ A 50cm -‘:?,
68 cm \»Ntl(
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